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Part | Writing 30 minutes Answer Sheet 1

Part 1| Reading Comprehension (Skimming and Scanning)15 mins
Part Il Listening Comprehension 35 minutes Answer Sheet 2

Part IV Reading Comprehension (Reading in Depth) 25 minutes
Part V Cloze 15 minutes

Part VI Translation 5 minutes
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1. 8T B 1A A S0% AEE IR S 3k B, W — /Nl A SR B . (8
ALJEC)  08.1 65 refine the story---correct the story

2 ENIR A, A ERERIKBIER, RENRE R
A. TEEL (BRI a2 a2 ) Bo JnshfE X #siR

Q%ﬁ%?ﬁ%iﬁ@ 1. HE R EFER N EHREIN 2.8 0 EfE R HER X
=R

Example:

The success of Bill Gates and other non-MBAs, such as the late Sam
Walton of Wal-Mart Stores Inc., has helped insipire self-conscious debates
on business school campuses over the worth...

Q. it seems that the ocntroversy over the values of MBA degrees has been
fueled by

Controversy---debate fueled---inspired
2. Farming emerged as a survival strategy because man had been obliged

J7i3. ..., people were forced to abandon their old way of life for a
radically new survial strategy.

Answer: to give up their former way of life
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In the past

such as central heating, constant hot water supply,
electrically operated lifts from top to bottom, and so on, as well as
such details, important notwﬂhstandmg(ﬁﬁﬁ‘ﬁ) as easy facilities
for disposal of dust and rubbish and storage places for baby
carriages on the ground floor, playgrounds for children on the top
of the buildings, and drying grounds for washing.
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A breakthrough(Z%#%) * in the provision
of energy from the sun for the European

Economic Community(EEC) ' could be

brought forward ¢ by up to two decades, if a
modest increase could be provided in the
EEC’s research effort in this field, according to
senior EEC scientists engaged in experiments
In solar energy at EEC’s scientific laboratories

at Ispra, near Milan.
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1. EA TR HHAEIE, ERNRREESH
#82+ . No, not, hardly,seldom,never little,
few, small  NWiE=EFRIAZ de-/dis-/un-/in-
There are probably no questions (that)we can
think up that can’t be answered, sooner or
later, including even the matter of
consciousness.

Answer: Man can find solutions sooner or later
to whatever questions concerning nature he
can think up.
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Eg.1 Motivated in part by Christian compassion for the helpless as well
as a practical political impulse to undercut the support of the socialist
labor movement, Chancellor Bismarck created the world’s first workers’
compensation law in 1884.

Motivated by------- Chancelloer Bismark
Q: The world’s first compensation law was introduced by Bismark

Answer: out of religious and political considerations.
Eg.2 08.1 66
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The mother of the young man Wilde was
intimate with accused him at the banquet
of sexually influencing her son.
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1 Example: Along with them goes social mobility,

ambition to rise in the urban world, a main factor
In bringing down the births in Europe in the 19th

century.
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In most cases, offensive breath emanates from bacteria(4i ) in
the mouth, although there are to her, more surprising causes.
A. thrive on B. account for C. originate from D. descend from
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f511. J53: The third big difference between the drama detective and

wm

the real one is the unpleasant pressures:

. Secondly, as expensive public
servants they have to get results. They can hardly do both.
Most of the time some of them have to break the rules in small
ways.

Q: What's the policeman's biggest headache?

(A) He has to get the most desirable results without breaking
the law in any way.

(B) He has to justify his arrests while unable to provide
sufficient evidence in most cases.

(C) He can hardly find enough time to learn criminal law while
burdened with numerous criminal cases.

(D) He has to provide the best possible public service at the
least possible expense.

VW?ﬁM E%%%% Wﬁxa,%% AR ANHR ) A, PSR A e i
%y (firstly, YE Y EES (secondly, ﬁ_/\@mif& XEW Sk, AR R AR

+ C. D= Iﬁ%‘ﬁ'ﬁia?ﬂ%\?ﬁﬁ% )
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12, 5RiALL. ZEXFAb. mEAL  the only...
onlyfE =) E IR E

1ltis... that... must all , anyone, never,
most, sole, just, simply, unique

108.6 66 61

1.0 58 best
1.6 61 only
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VA5 47 Eeiay, A) 5 Has, such as, for
example, for instance, as an illustration, that is,
to name a few, as follows%: 5| 45188 A] T1E N
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P34 NGB RS . i A (LR S8 . % D)
UL, A B

%]. "There is a senseless notion that children grew up
and leave home when they're 18, and the truth is far
from that,"says sociologist Larry Bumpers of the
University of Wisconsin....

1 Q: There was apparently a trend in the USA
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however, nevertheless, in contrast,
otherwise, on the other hand, by
comparison, but ,yet, while, although,
whereas , even if, likewise, similarly, in the
same way, in the same manner, as if, as
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= = 1] for this reason, for, as , because,
since, as a result of, owing to, thanks to,
due to, as a result, therefore,
consequently, thus, accordingly, so
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Example

But my own worry is less that of the overwhelming
problem of elemental literacy than it is of the slightly
more luxurious problem of the decline in the skill even of
the middle-class reader, of his unwillingness to afford
those spaces of silence, those luxuries of domesticity
and time and concentration, that surround the image of
the classic act of reading..............

32. The author’s biggest concern is
Concern-worry biggest—Iess...than

D. the reading ability and reading behavior of the middle
class. | !

skill act of reading
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1 IXUSESIEA . must, always, never, the most, all, only, have to,
any, no, very, completely, none, hardly3.

1 151(1) One of the great changes brought about by the knowledge
society is that

1 A. the difference between the employee and the employer has
become insignificant.

B. people's traditional concepts about work no longer hold true.
C. most people have to take part-time jobs.
D. people have to change their jobs from time to time.

(o dr: PUAEDA, C. DI AR 4 "have to", 1HSRAEXS1L,
EAE R HERR . B SRR N IR R TIR RS, AR ERR T A . )
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1E A R E

1 () IR S A e TR A IR I, XS A
. can, could, may, should, usually, might, most(-k % %%), more or
less, relatlvely, be likely to, pOSS|bIe whether or, not necessarily %

1 %] (1) It can be inferred from the passage that the author
believes

A. Americans are more ambitious than people in other countries

B. in many countries success often depends on one's social status
C. American businesses are more democratic than those in other
countries

D. businesses in other countries are not as competitive as those in
America

(/\m EIBHoften —iAl, AERLE, ANtolE, MNER. W
=T T R N TR SRR B 4. )

!
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1 (=) IR R SCEREA RSB RD, 1 [E SR e
Vi
% (1) According to Dr. David, Americans
A. are ideally vigorous even under the pressure of life
B. often neglect the consequences of sleep deficit

_
_
| C. do not know how to relax themselves properly
_
_

L

L

!

D. can get by(M%}) on 6.5 hours of sleep

(OPHT: ZRTUHA. DIBUEA bR ) 7 3L,
WM HERR . BIih A often —18, BSZEW, ATO0E, W
NEZE. )
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1 %] (1) which of the following best summarizes the main idea of the
passage?

A. Musical instruments developed through the years will sooner or
later be replaced by computers.

B. Music can't be passed on to future generations unless it's recorded.

C. Folk songs can't be spread unless they are printed on music sheet.

D. the development of music culture is highly dependent on its material
aspect.

1 (o KRR R REE H B. CEHHNAEZH & MNE—A
7 I%i@?~/\5%5 ﬁ‘ﬁDIﬁ”j¥Fﬁi%/Tmuﬁﬂxé7iﬁ s %%Fﬁ‘
T E&REXES. )
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Eg. From the passage it can be seen that employeeship
helps one

A. to be more successful in his career
B. to solve technical problems
C. to be more specialized in his field
D. to develop his professional skill

Co T 2 %ﬂiE'"MIEP%thI%%Iﬁﬁ%HMI . 'B"
AL FRF A [m] ", C"VRA Tl DIx"k%ﬁRikﬁaé"o
~Iﬁi%T,wD%Btt§mﬂHﬂ T AT ) AR5 B A TR B /zT
T7B. C. D=IWAHZE,

Et
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% (2) Raising children, in the author's opinion, is

L

L

L

A. amoral duty B. athankless job
C. arewarding task D. a source of inevitable pain

Cortr: @B R Z, “RIEEWNA, $THREZ T2 7 Wﬁ
BATH FAEEE L, $eFEF A, “— N EE T
’B@ﬁﬂﬂﬁﬂP &M%uﬁ%%9¥mA$X

e RGEHE Y . EPTURAE T, Wi EAEER.
WOWﬁEﬁE%BU$TﬁAAF% = B R =
XAk 2 &%, DIiFinevitable—id], %/—:&i@@ﬁ@c,
HMHERR . )
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